115

110

105

100

95

90

85

2.3

12345678 91011121 2 3 456 7 8 9101112
18 19

12 100

941,516t
( )

10 12 | 10 12 | 10 12

26.5 A5.3  A4.0| 455 5.1

12.1 3.7  A25| A0.7| Al3

9.5 7.0 0.8 0.9 41.9

9.0 | a10.7  a43| a3.5| al9

9.0 6.9 29| 405 6.7

100.0 | 4 0.8 1.5 0.4 5.8
10 12



€Y

20
10
0
-10
-20
-30
40 _— -15 ’
e -20
6 9123 6 9123 6 912 3 6 912 3 6 9 123 6 9 12 3 6 912 3 6 9 123 6 9 123 6 912 3 6 9123 6 9 12
14 15 16 17 18 19 20 14 15 16 17 18 19
- 20 -
15 12 18 12 15 12 18 12
0
w0 b -
-20 -
o L
-40
-50
-60
-70
14 15 16 17 18 19 20
- 20
19
12
30
20 -
18 19 0 | /S ——_\ N\
A 9.3 7.7 5.8) 0 |
A420.0 49.3( 16.0) o | —_
A 3.2 3.1(a 0.1) ¥ —
10-12 1-3 4-6 7-9 10-12 1-3 4-6 7-9 10-12
17 18 19
10 10 2,000
— 1,750
11 /\/5\/\ - . 1,500
0 AH-H W T A /\ 1,250
\V/ 1,000
ol L0 0nn oY) L0V 0o
-10 = = 500
123456 78 91011121 2 3 45 6 7 8 91011121
18 19 20




o

-5

-10

-15

10

-10

10
11

11

12

9 - - - 10-12
Al2 Al4 A2.9 A27
A29 A23 A4.2  A3.9
A0.3 Al10 A2.3 A2
Al.7 Al.6 Al.7 A22
47.0 47.9 45.9 36.2

1234567 891011121 23 45 6 7 8 9101112
18 19

1234567 891011121 2 3 45 67 8 9101112
18 19

19

123 4567 891011121 2 3 45 67 8 9 101112

18 19

65

50

25

1234567 891011121 2 3 4567 891011121
18 19 20

12345617 891011121 2 3 456 7 8 91011121
18 19 20



€Y

[¢ )
1.10 0.6 6.5
m =
1.00 0.4 — 1 6.0
0.90 0.2 L —
5.0 1 5.5
0.80 [ — 0.0
10 12 1 5.0
0.70 — 0.58 -0.2
0.60 r=N_~ — -0.4 | 148
0.50 \/‘/— -0.6 14.0
0.40 -0.8 3.5
123 45 678 91011121 2 3 4 56 7 8 9 101112 10-12  1-3 4-6 7-9 10-12 1-3 4-6 7-9 10-12
18 19 17 18 19
96.3
2.0
9 13 - - 1012 2 15 f —_
159 172 138 132 50 Lo —_—
1.2 203 232 00| 3.6 0.5 /v/\\
497 431 464 816 80 00 T v’
50.3 A6.0 Al8.2 A51.6| A47.8 0o
-1.0

12345678 91011121 2 3 4567 89 101112
18 19

10

65

50

25

123456178 91011121 2 3 45 67 8 91011121
18 19 20



